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1. 8х + 10 = 3х – 10 (х; 1)

2. 10(у – 2) – 12 = 14(у – 2) (–4; у)

3. –25(–8х + 6) = –750 (х; –1)

4. –10(–4у + 10) = –300 (–3; у)

5. –10х + 128 = –74х (х; –5)

6. 3(5у – 6) = 16у – 8 (–2; у)

7. –5(3х + 1) – 11 = –1 (х; –10)

8. –8у + 4 = –2(5у + 6) (–1; у)

9. 20 + 30х = 20 + х (х; –8)

10. 26 – 5у = 2 – 9у (0; у)

Соедините последовательно точки, координаты которых узнаете,
решив все уравнения:

11. 9х + 11 = 13х – 1 (х; –6)

12. 12х + 31 = 23х – 2 (х; –8)

13. 2(х – 2) – 1 = 5(х – 2) – 7 (х; –8)

14. у + 20 = –у (4; у)

15. 4(2х – 6) = 4х – 4 (х; –10)

16. –9у + 3 = 3(8у + 45) (5; у)

17. 20 + 5х = 44 + х (х; –4)

18. 27 – 4у = 3 – 8у (6; у)

19. 5х + 11 = 7х – 3 (х; –6)

20. 8у + 11 = 4у – 1 (7; у)

21. –23(–7у + 2) = –529 (0; у)

22. 6у + 7 = 2 + у (–1; у)

23. –2у + 15 = 13у (–1; у)

24. 18 + 16х = 18 + х (х; 1)

25. 3(у – 1) – 1 = 8(у – 1) – 6 (0; у)

26. 5(х – 6) – 2 = 2(х – 7) – 6 (х; 2)

27. 28 + 5х = 44 + х (х; 4)

28. 15х + 40 = 29х – 2 (х; 4)

29. 51 + 3у = 57 + у (3; у)

30. –50(–3х + 10) = –200 (х; 3)

31. –62(2у + 22) = –1860 (2; у)

32. –11х + 52 = 41х (х; 4)

33. 14(3у – 5) = 19у – 1 (1; у)

34. 11(8 + 9х) = 88 + х (х; 3)

35. 100х + 77 = 100 – (х + 23) (х; 4)

36. 38 – 5у = 34 – 4у (–1; у)

37. 26 – 4х = 28 – 2х (х; 2)

38. 10 + 9у = 26 + у (–2; у)

39. –20(–10у + 4) = 120 (–2; у)

40. –15(–9 – 2х) = 15 (х; 1)
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